
KEYS: (Suggested answers only) 

1. ……………….. the popular overwork culture in Japan, many workers 

in the country commit suicide.  

Because of 

 

2. Many road accidents happen ……………….. drunk driving.  

due to 

 

3. The economic growth of China benefits the rich more than the poor, 

……………….., many rural cities in the country have not seen 

growing incomes for years.  

therefore  

 

4. The National Rifle Association (NRA) has major political influence in 

the USA, ……………….., laws constraining private gun ownership 

can hardly be passed.  

as a result 

 

5. British people can enjoy free healthcare, ……………….. the famous 

public healthcare system known as the NHS (National Health 

Services).  

thanks to 

  


